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10-10-5-1-1 i 1.76 200 -2.715 0.216 . 042 1.584 1.000 2.300 800 1.500 -0.923 -3.723 5.483 2.683
Tk 1.72 200 -2.656 0.216 042 1.584 1.000 2.300 . 800 1.500 -0.864 -3.664 5.384 2.584
1ot ik 1.72 200 -1.558 0.216 042 1.350 1.000 2.300 . 566 1.500 0.000 -2.566 4.286 1.720
TR 1.62 200 -1.504 0.216 . 042 1.296 1.000 2.300 512 1.500 0.000 -2.512 4.132 1.620
10710ss i 1.62 200 -1.404 0.216 . 042 1.196 1.000 2.300 412 1.500 0.000 -2.412 4.032 1.620
Tk 1.33 200 -1.281 0.216 042 1.073 1.000 2.300 . 289 1.500 0.000 -2.289 3.619 1.330
10-10-5-4-1 i 1.33 200 -0.988 0.216 042 0.780 1.000 2.300 . 996 1.500 0.000 -1.996 3.326 1.330
5% 1.33 200 -1.261 0.216 . 042 1.053 1.000 2.300 269 1.500 0.000 -2.269 3.599 1.330
10-10-5-5-4 TR 1.27 200 -0.967 0.216 . 042 0.759 1.000 2.300 975 1.500 0.000 -1.975 3.245 1.270
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i 1.37 200 -0.862 0.216 042 0.654 1.000 2.300 . 870 1.500 0.000 -1.870 3.240 1.370
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T&H 1.57 250 -2.246 0.267 017 1.533 1.000 2.300 800 1.500 -0. 455 -3.255 4.825 2.025
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No. 0 & 1.01 200 -1.261 0.216 042 1.053 1.000 2.300 . 269 1.500 0.000 -2.269 3.279 1.010
i T&H 1.01 200 -1.184 0.216 . 042 0.976 1.000 2.300 192 1.500 0.000 -2.192 3.202 1.010
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